T T T T T T T T T T T T T T T T e =
| 4 ‘ 3 2 ‘ 1 |
| R - UNPUBISRED- TR FORFUBEREN —— I o REVSIONS |
‘ © copvriorr - BY TGO ELECTRONICS CoRPORATION. A0 RIOHTS RESERVED | GP |00 |+ ‘ b DESCRIPTION ‘ T AT ‘
| | O | ReLeasED PER EC 0513-0207-05 [ 2uun0s [SW] JG |
| |
| |
s #4—40 HEX NUT D
| 2 PLC |
| |
| #4 LOCK WASHER |
| 2 PLC |
| #4 FLAT WASHER |
| SLIDE LATCH 2 PLC |
| |
| | |
‘ i — — — TT 17 ‘
135
| E * |
| ¢ |
| |
© €
4-40 SLIDE LATCH SCREW
| 415+£.015 # DE_A |
| |
| |
| |
| |
| |
| |
| |
| |
| ! |
| - — - — - —H- 490 MAX |
| 3
| 5
| 5|
5
B 5 |
| |
| (1.397) |
| |
| |
| |
| |
| |
| 1. PARTS PACKAGED UNASSEMBLED. |
| 2. PARTS PACKAGED AS A UNIT KIT. |
| 3. THIS KIT CAN BE USED WITH CABLE CLAMP BODIES THAT DO |
| NOT EXTEND BEYOND THE FRONT FLANGE OF THE |
CONNECTOR OR ON CONNECTORS WITHOUT CABLE CLAMPS. 5745404
| ZINC PLATED .000200-.000400 THICK, PART NO |
| YELLOW CHROMATE COATING. THIS DRAWING IS A CONTROLLED DOCUMENT. |™ sy 281UNos Yoo Tyco Electrorics Corparation \
‘ A CHE ROHDE 284UN0S Efactronics Harrisburg, Pa 17105-3608 A ‘
DIMENSIONS: ORISR [ ZRIONGS | WAME
| e, RS |
She i )
E 12 PLC + - —
| @ A o o oo [pee T e T |
| [ — A e - A2[00779(G=5745404 - |
| RO ST Ao : [CUSTOMER_DRAWING =40 ™ 11 [®o |
B TET |
. —

Downloaded from Elcodis.com electronic components distributor


http://elcodis.com/parts/227215/5745404-1.html

